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He threw a board, etc. — 591D IR NWYY YO DM SN 0T PY
The landing of the object and making the partition, etc.

OVERVIEW

X217 posed a query if someone threw a board on top of pegs (in a 7"777) which were
ten 0°mdY high but were not 7"v7, and the board (which was 7"¥7) made it into a
*"717; is he 21 or My, since the resting of the board and it becoming a *"77 happen
simultaneously.! Our mooIn discusses this query.

mooin asks:
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And if you will say; even if there is no ‘breaching of goats’, because the pegs
prevent them, nevertheless how can the board be that significant to make the area

underneath the board into a "' -
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How is this different from the cases of a basket, and a pillar in the 9'"'779, which

is high ten o°15v and is wide four by four o°15v, but it is not wide '7 at its base -
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Where the X723 states, ‘if he threw an object and it landed on its top, he is
liable’; indicating that he is liable only if it landed on top but not underneath.

NID0IN answers:
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! The xmx dismissed this query saying it is the same query which 73m> '3 posed. Our n1vo1n however has another
difficulty with this query.
2 There is a general rule that if a 7¥°nn is three °nov off the ground so that goats can breach it by going underneath
it, this is not considered a 7¥nn. In this case it may not be o°yp12 071 since the pegs prevent them from breaching
and going underneath the board.
3 77> M2 >0 " ruled that if one placed a basket on top of a pole (higher than o°190 ) and someone threw an object
into the basket (from the 1"777) he is 217 because the basket is a *"77 (it is '7 277 " 1723). See X"w17» who comments
that in the case of 90 there is 073 NY°P2 as is apparent from the Xn3 later (X,Xp). See 71X R"wmn for answers.
4 The Ty narrows at its base so that the base is less than 7"¥7.
5 If the article landed underneath the 9070 or underneath the wide part of the pillar, we do not say that just as on top
(of the T YpoW) it is a >"711 the same applies to the bottom (that we extend imaginary walls downwards so that the
bottom of the 7y 2p07W is a *"'711). The same should apply here, that only on top of the 77 it is a *"717, however the
7 itself did not land on a >"71, since the area underneath the 77 which is not 7"v7 is not a *"7. See ‘Thinking it over’
#2.
¢ The m7n are ten 2°ndY high. Each wall of m7n> is four o°nov long. [This is different from what we assumed
initially.] The two walls of the n17°n°> may be parallel to each other or in an ‘L’ shape; in either case it is not a >0
since we are lacking a third wall. See ‘Thinking it over’ # 1.
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And the 3" says this is a case where for instance there are two walls made up of
two pegs; however two walls is not a >"17 -
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And regarding a third wall, we say the lip of the roof descends and closes it off -

SUMMARY

The case here is where there are two walls formed by the m7n° and the third wall
is formed by 77pn 5. A mwA which is 7"¥7 on top but not 7"v7 below; the top is
considered a "7, but not the bottom.

THINKING IT OVER

1. According to noon,” why was it necessary for X231 to discuss a case where the
two walls were made from Mm17°n°; the same query could have been posed if there
were two regular walls?!

2. From moon it appears!? that if on top there is 7"v7 but underneath it there are no
7"v7 MX°nn, it is not a *"'77 (under all circumstances) even though on top it is a *"77.
See however '3 Yo mnaw "0 "X 1"7IR YW who writes; 7"VT IWXM2 wWOw Y M2y Ty
DY PR TIA QOIMIRY 1907 AWNR? 7997W 97 WRI DY "0 R 07T Y 0nR T 2xpnn)
O°R17 URY 9"YR PRI TV WRI NN PAR LD PTIX DR MR MIDPR MM 12°RD AT O
NNT N TUYT 707 2w PN 9% "IN v MWYY VI T PR QW MDOPn MXIn 19°8D
5"9y ,aw P°05n TV NONNN Y 2w euarnTs. It is evident from his 1w that if there
would be a 7"v7 03P»n underneath, it would be a °"'117; this 1s in contrast to N150IN.

7 When the 77 (which is 7"y7) lands on the m7n>, the lip of the 77 on any of the two sides where there are no M7,
forms a third wall through the rule of anm®1 77 77PN °5, so now we have three walls (two which are formed by the
m7n* and one which is formed through 121 77pn *»). We now have a *"771 which is 7"v7 under the 77 formed by these
three walls. The 77 landed in a place which is a *"717 (once it landed).
8 There is a general rule that if there is a roof we say (in many cases) that we consider that the flat edge of the roof
descends to the ground and forms a ‘legal’ wall from the edge of the roof till the ground. The rule of 771 77pn o
amo1 does not apply to all four sides of the roof (we do not say 77pn *9 if there are no walls at all). Therefore it is
necessary that two walls are formed by the n17°n° and for one wall (the third) we can say "21 79pn .
9 See footnote # 6.
10 See footnote # 5.
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